All answers are to be exact, unless stated otherwise.

1. Two concentric circles have diameters 18” and 12”.  Find the length of a chord of the larger circle which is tangent to the smaller circle.













2. Find the distance from the center of a circle to a chord 30M long if the diameter of the circle is 34M.  
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6b. If the line y = 2x + 1 was graphed, where would it intersect the parabola? Solve algebraically. 











[bookmark: _GoBack][image: ]














[image: ]



[image: ]







[image: ]

[image: ]


[image: ]c)  t = 17.5

d) t = 25

image6.png
2
¥ +1

b) g()

x>2





image7.png
24.) Given g(x)=3n-2 and f(x)= n” +5, perform the following operations:
a) g(x)—f(x)
b) f(x)+g(x)
Q) f(x)eg(x)
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23.) Calculate the average rate of change for the given time periods
using the data in the table at right. Include appropriate units.

a) t=0tot=5
b) t=10tor=15
c) t=15t0 =20

d) 1=25t0¢=30
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5) Given x*+y? +8x-2y+13=0_

a. What is the shape of this graph?
Explain how you know.

b. Rewrite the equation in graphing form.

c. Sketch the graph.

d. Is this graph a function? Explain.
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6) Given y=%(x+3)2—6:

a. What are the x-and y-intercepts?

b. Where is the vertex?

c. Sketch the graph.
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9) Find the value of the angle or the intercepted arc indicated in each figure below:
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11) Given the circle below with two intersecting chords.Find the length represented as x.
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12) In the diagram of circle 0, m£ABC =2x ang™ Are AC=x+60  pinq the value of x.
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13) Inthe circle at right, Cis the center and AB is tangent to the circle at
point B. Determine the area of the circle.

14) Given f(x)= %x -3, find the inverse.

AC=30
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